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BT 44 HH 5 X &t
Ba] s 3m] ;28 AT 303 335 385 720
FAREI1TH 1,054 1,158 1,286 2,444
mARI2TH 1,199 986 1,343 2,329
A R T 2,361 2,291 2,595 4,886
BERT1TH 621 590 639 1,229
BER2TH 397 383 434 817
B ERISTH 313 363 312 675
B ERTATH 527 475 500 975
B ERSTH 836 888 870 1,758
B ER6TH 382 394 419 813
e = HT 535 563 607 1,170
45 KHT 536 605 625 1,230
L HT 995 1,055 1,170 2,225
BEHT 54 54 58 112
A K BT 597 665 697 1,362
7 HT 436 433 444 877
p i 458 465 518 983
RIRHET 206 186 216 402
REFH 200 196 231 427
KHET 359 315 368 683
KET1TH 239 237 280 517
XKET3TH 288 325 322 647
KET4TH 875 797 976 1,773
fif] LI BT 2,500 2,761 2,914 5,675
B A HT 982 1,073 1,179 2,252
EAEET2TH 320 450 442 892
EAEET3TH 427 528 513 1,041
E4ERT4TH 387 461 488 949
EAEETSTH 352 402 449 851
EAEHET6TH 210 288 274 562
E&ERT7TH 168 246 254 500
Al & HT 336 327 357 684
E8 [ HT 1,670 1,457 1,710 3,167
=i ET 517 541 620 1,161
=280 482 563 547 1,110
L aEHET 101 107 120 227
L+ EFHET P 640 632 696 1,328
L EFHETER 851 744 833 1577
L HRET 1,946 2,072 2,211 4,283
LET1TH 73 117 113 230
LET2TH 161 167 180 347




L¥AET3T H 155 157 162 319
L¥ET4T B 162 172 197 369
LHETST B 216 254 292 546
I 2= HT 197 206 220 426
nsrET1 T H 563 540 524 1,064
JNsFET2TH 544 508 562 1,070
JNSFEIST H 440 446 410 856
JNsFET4 T H 1,052 1,030 1,070 2,100
35 BT 575 567 645 1,212
=57 HT 225 209 242 451
Jt B BT 29 34 37 71
z|d:i)) 402 353 338 691
fHZaE AT 828 912 989 1,901
FHRHET 80 76 89 165
¥ 2 FF T 359 384 412 796
BEFE1TH 95 116 126 242
BEFH2TH 283 309 330 639
B3] 125 130 133 263
AN VNEEL:) 3,139 3,056 3,251 6,307
1R T 270 281 313 594
=di 769 748 765 1,513
YEXBI1TH 274 252 267 519
=/7 LLHT 216 156 129 285
Hh ek HT 25 25 4 29
Tt EHET 11 16 12 28
THMHEE1THE 733 641 694 1,335
THHEE2TH 528 537 529 1,066
THHEET3TH 861 883 1,039 1,922
TEHT1TH 173 172 167 339
TEHT2T H 804 727 845 1,572
TEHISTH 173 178 193 371
TEHT4ATH 99 116 114 230
TEHIST H 212 233 235 468
T HAET 517 526 568 1,094
THAET1TH 353 349 358 707
THAET2T B 461 417 473 890
THAET3TH 197 186 218 404
THAET4AT B 159 148 174 322
THAETST B 170 181 203 384
THAET6 T B 143 170 167 337
HTAEHET 14 12 6 18
ikl 185 197 177 374
#8)11 BT 46 46 50 96
KT HT 293 307 329 636




7B KHT 1,644 1,613 1,752 3,365
&)1 BT 269 313 298 611
XLAT1TH 813 700 868 1,568
KLAT2T B 320 344 369 713
XHILET3TH 155 144 164 308
18 R AT 44 67 71 138
hHET1TH 386 412 411 823
hHET2TH 458 453 506 959
hHBEISTH 463 494 507 1,001
chdt BT 253 216 266 482
th 2 JEHT 216 190 217 407
ch HT 137 128 166 294
TRAHET 787 851 856 1,707
At FAET 888 875 991 1,866
75 K ERET 785 939 982 1,921
75 2 [N HET 1,682 1,783 1,913 3,696
JRHT 922 864 961 1,825
$FHET1TH 539 476 504 980
$FHET2TH 399 381 428 809
$FHETSTH 192 192 213 405
plin) 165 207 219 426
HET1 T B 389 474 489 963
HET2 T B 339 345 393 738
HET3T B 356 376 428 804
HET4A T B 125 117 151 268
J\ & HT 1,000 1,055 1,080 2,135
J\ EHHT 159 191 186 377
T4 ERT 249 271 300 571
+ A HT 1,631 1,591 1,810 3,401
THB1TH 26 22 20 42
THRBI2TH 1,497 1,316 1,352 2,668
T4RBI3TH 195 170 162 332
THRI4ATH 370 292 363 655
THRBIS5TH 926 615 913 1,528
THBI6TH 710 718 760 1,478
THBI7TH 345 355 407 762
THBI8TH 380 400 422 822
THRBOTH 412 444 495 939
THB12TH 242 255 275 530
T+4B13TH 324 368 382 750
AR NBHET 1,964 1,657 1,915 3,572
HARRHET 1,425 1,273 1,162 2,435
HARK/ERET 296 359 386 745
H AL EHET 171 168 168 336




HARKEHET 129 112 128 240
AR hET 205 221 260 481
HARAKHET 448 462 495 957
H AR EHT 310 320 355 675
HARE)IIET 275 253 288 541
HAREAHET 108 118 128 246
FH AR JTHT 102 99 111 210
HEARERHE 688 576 642 1,218
B K BRHET 386 400 398 798
B4 EHT 885 869 1,009 1,878
BEFET1TH 760 726 738 1,464
BEFET2TH 587 587 660 1,247
BRFEISTH 347 402 409 811
Al Ffr BT 1 2 1 3
AFTET1TH 426 379 419 798
AFTET2TH 600 595 671 1,266
AIFTEISTH 683 762 832 1,594
AHT 183 193 184 377
B LAY 247 313 333 646
NERE) 796 729 805 1,534
ERL 791 936 938 1,874
= HHT 1,741 1,891 1,951 3,842
HLIRET1TH 588 606 649 1,255
HLIRET2TH 525 594 635 1,229
HLIIREISTH 294 372 365 737
et 316 352 380 732
FALE1TH 1,176 1,110 1,257 2,367
mLRI2TH 864 942 1,052 1,994
FA HT 1,371 1,362 1514 2,876
= RIITET 515 477 529 1,006
= M7 351 288 323 611
AR#HT 7 5 3 8
IERsl) 516 559 494 1,053
SHET1TH 717 617 759 1,376
G HET2TH 404 430 466 896
aHEI3TH 863 731 888 1,619
G HET4TH 789 613 826 1,439
E& T 1 1 0 1
J\[RET1TH 224 246 274 520
J\FRET2T B 222 218 233 451
J\FRET3TH 251 307 317 624
1TIEHT 297 410 395 805
FAgIBET1 TH 160 188 193 381
FHREIBRT2TH 304 430 460 890




FIEIET3 T B 110 178 174 352
FEOER1TH 185 281 275 556
FEOER2TH 0 0 0 0
EOER3TH 19 17 2 19

wEE 89,864 | 90,411 98,152 | 188,563




